
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Gap-Fill Exercise: Childhood 

Families and Households 

Complete the gaps in the following passage with words from the list 
below. Each line in the passage represents one word and each word in 
the list is only used once. 

In contemporary Britain, the conventional view of children is that they are __________________ immature, 

dependent and __________________, and therefore need ____________________ ________________, 

and the support and __________________ of adults from harmful influences in the adult world.  

However, sociologists argue that the identity and __________________ of children, with childhood as a 

separate phase of life, is a social __________________ - a __________________ creation rather than as a 

simple result of biological __________________. The nature of childhood is not the same in every society, 

as is shown by __________________ and __________________-__________________ studies, and 

differences between children in the same society. For example, in __________________ society children 

were seen as __________________ __________________ and were expected to take on adult 

__________________ and responsibilities as soon as they were physically able to do so. In many countries 

of the world today, small children are expected to __________________ and take on a range of adult 

responsibilities which would be regarded as __________________ in contemporary Britain. 

Ariès linked the emergence of the view of childhood found in contemporary __________________ 

societies to __________________. The banning of child labour and the emergence of compulsory 

__________________ made children increasingly __________________ on adults for support.  

__________________ argues that the distinction between adults and children is now once again 

disappearing, as children are increasingly exposed to the same influences and concerns as adults. 

__________________ are losing control over the influences their children are exposed to, the 

__________________ they learn and the behaviour they adopt, largely due to their exposure to media 

influences such as from film, television and the internet. Cunningham suggests that parental authority has 

been undermined, with a shift in the balance of power from adult to __________________. He explains this 

by more affluent parents giving their children __________________ money, plus more children having 

part-time earnings, which reduces the __________________ of children and transforms them into 

__________________, who demand access to the __________________ world earlier.   

adult   biologically   child     construction 

consumers  cross-cultural   dependency  dependent 
education  historical   illegal   immaturity 

industrialization little adults   medieval  parents 
pocket   Postman   protection  roles 

social    specialist care   status   values 
vulnerable  Western   work 

 


